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Yt  = Ct + l‘t = Y” ( 4 . 1 )
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c, = a t b Yt-  1 / Pt ( 4 . 2 )

it = i0 ( 4 . 3 )

it = It-1 / pt ( 4 . 3 ) '

Yt = Y ‘Pt0
( 4 . 4 )
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~7uih-$iu  t0Mun77(4.2)  uaa ( 4 . 3 )  unudinVludun77c4.1)  WIRY

Yt = a + b (Ytsl  / Pt) + i, (4.5)

y 0 = b(y,  ptsl / Pt) + a + i,

yo - ta t i,) = b*yo  (Ptsl  f Ptf

i&d 7Ylti-il

vpt-l = buy, (4.6)

YO -at i,

P /Pt t-1 = 0.5(100)  = 1.25 (4.6)'

100 - 60

EC 314 8 1



ct, = a t (by t '%' (4.7)

= a t by; t i. - Y,

a t i0 - (l-b)yo
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Y, = B+i,

l-b

a-bY,+i,-y,=  0

by0 = y, - (a+i,)

a+i,  = y, - by,

= yO(l-b)  '

y,= -0a + i

l-b

yt = ct + it = y. (4.9)

CL = Cw.lt  + Cr-,t (4.10)

Cw,t  = a + b (W,/P,) (4.11)
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cr.t = m + n ljt (4.12)

Pt

i,t  = i, (4.13)

Yt= Y,Pt (4.14)

Yt = Wt t Rt (4.15)

Wt=  N,wt (4.16)

Wt = x P t - 1 14.17)
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. . Y = y. =
t

a+bWf + mc nAt + 30 (4.18)

Pt pt

U?lUdl Wt = No x pt-l uat:

Rt
= Yt- Wt = Y, ptr wt = y. pt- No x pt-1

Y, 7 aP +bN XP +mP +nY P -nN XP-Q-o-*  - 1-c-o-2 +i P-0-k - t-o-*

pt

YO P,-  n Y, P,- taP,tmP,+i,P,f = b N, x P,-,  - n N, x P,-,

P,(y,-n  Y,) - P,(atmti,)  = (b-n)N,  x P,-,

P,C (Y, -n y,)-(a+m+i,)l  = (b-n)N,  x P,-,

‘t = (b-n)N  xo- (4.19)

Pt-1
Y,(l-n)-(atmti,)
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(P/W)
”

QO
Q
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dJ = f,(D,-S,) (4.20)

dt

dw =- f,(S,-S,) (4.21)

dt

EC 314



EC314 91



0 dp/dt
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dynamic model IIPJLRW~  uM~lfir&<?  income-payment period %~a

~aR?7u!Mu~JanJI3~r4n~a~  &d~il~? income-payment period i~%d W~JT?&

~~&~FI~uuTJ%~  UM  income-payment period f 7ar&aurAoUh  v e l o c i t y

of money
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